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e*sin2x,x<0

AbabiESE, AbAbRT . W a, b BUE R ( Do
ax+h, x>0

W # f(x) ={
(A) a=2b=0 (B) a=1b=0 (C) a=2,b=1 (D) a=0,b=0
(2) FH—TEREESS AR, HHRIRE ( ).

(A) joz f (sin x)dx = joz f (cos x)dx

(B) _[05 f (sin x, cos x)dx = J.O? f (cos x,sin x)dx

©) jo” f (sin X)dx = zjf f (sin x)dx

(D) jo” f (cos X)dx = 2 ff f (cos X)dx

(3) jl xdx ( )

0(2-x*)J1-x*
wmzr ®»E o oI
2 3

4
(4) FHIBEAS )2 ( Do

e n-1 n+l ©

(A) Z% (B) Z(\/n+2—2\/n+1+\/ﬁ)
n=1 n=1

(©) i 2N (D) iq"cosnx(|q|<1)
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(5) THIYETEEILHIE ( Do
1

(A) /—;,\f(x):{(lﬂ)*' X#0 0 3 f(x) Ko%= K00
1 , x=0

X + x%e™

nx !

(B) 4 f(x)=Ilim

n>+o 4@

xeR, M f(X) LR

1 xXNEHEH

» N D(X) Jofdes i, H AN A ] pR 2
0, xJyTEHEL ] D(X) AR, EASE A TR 2

©) é\D(x):{

(D) # f(x) M00, 1] FAiEkmmE . £(0)=0, f@)=1, M f(x) T LARE0, 1] 1

AT —ME
(6) IR IERIIZ ( Do

(A) Iimsin(ﬂ n2+1):0, neN.

N—-+o0

tan x —sin x

x>0 sin® X
(¢ lim L+L+...+ ! =1, neN.
e 1.2.3 2.3-4 n-(n+1)-(n+2) | 3

(D) lim x(——arctan X) —%

X—>+00

(1) HEFmENa0<a<) B x> +y° =a®, i P =(0,2) iz & A )k,

PIASHN ATIB, & APAB NZEIL=4M1, NZEAEEN ( Do
wB e gl ol
3 2 2

(8) .[:dx.[oﬁexz”zdy: ( )e

(A %(e—l) (B) %(e—l) © e-1 (D«

(9 (ﬁ«/x2+y2dx+ y|:ln(x+«/x2+y2)+xy}dy: ( ), Horh L SRR X 45 ABCD
L

RS 5 ), A (3, 2),B(6,2),C(6,4),D(3,4) .
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(10) BEFRH Y, (X), Y, (X) A B RBCEEF R 52y "(X) + py '(X) +ay(xX) =0 i
AEERRS T Y, (X), Y, (X) BIZR AR A R A %7 BB AR I 76 S ).
(A Y0y, () =Y, (x)y, '(x) =0
(B Y (X)Y, ' (X) =¥, (X)y, ' (x) =0
© Y1 ()Y, () =y, (X)y;'(x) =0

(D) ¥,()Y,'(X) =y, (X)y,(x)=0-

=, (KBS 104)) KitfHP:(0L,-1), 5Ffr:x—3y+2-5=0FFH5HEL
|3x=2y+2z+3=0

| 2x+y+2z+1=0

LW B L2

=, (RS 104) Yy —-x' =0, RFHEEY'(X)-

MU, (AE#HS 10 4%) Ko FOEHIZ x=2sint—sin 2t, y = 2cost —cos 2t(0 <t <27) 1)
KZ.
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T (AFEFES 10 43) ALk C BRI X° +2° —1=0 5Fli X+ y+ 2 -1=017%%, K

C 2 i i e R AR /N

1
75 (WS 1043) (L iFE#H: arctan — = arctan —arctan
75~ ) on on—1 on+1

= 1
(2) RZHr D arctan o7 ORI
el n

. (FEHD 10 ) K FIVE DI REYME R EE: y'(X) =

><|~<
>

yd =2 .

s GRS 10 53) S5 AR [[ (0 +2y° +22°)dydz . Hoof S BT
S

X = JL—y® — 27 WM X = y? + 2% BRI A

T GRES 104) (D RBIHS K Ml SR

n=1

2n 1
A Z

(2) jzé&ifiz

+. (@EiHS 1043 (D UEW: i<In(1+ )<1 , neN.
n+1 n n

(2 /%an:1+%+---+1—lnn, IER: a, sl
n

. (AERA 10 45) B EHESE AT T (X) <0, Hdixe(0,0). JFH f(x) =07
6] (0,1) I AF P MO, GEW: 7778 & € (0,0), 443 £ (&) =0.
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